A £ 0l & AHSH & Ml A

=S
I S8sS M3
HH=SAHE W2 2 BoAE X2

SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
=83 462,448 517,607 A\Bb, 159
=8 S A3 397,768 450,427 A\52,659
AISANME HA=E & HOAE K& 163,746 215,192 Ab1,446
FUTRIME 29 96,200 84,000 12,200
201 Zet2d| 17,000 17,000 0
01 AlR2teltl 16,000 16,000 0
OdlEl2g dit+=ZH| 7,000,000 7,000
Ofd=g 30,000 x25F «12& 9,000
2 352428l 1,000 1,000 0
OAlZ &t |Xi8l 1,000,000 1,000
301 LEt2 N s 79,200 67,000 12,200
11 HAHEHIXIRE S 3,000 3,000 0
OF2UANXARE /95 & XX
Ast(13l) 100,000& x25&H 2,500
O=8XXEZ2IH 23 500,000& 500
4 JIEt2 &= 76,200 64,000 12,200
OFA=Z 76,200,000 76,200
F=RIEHOIAE X~ 67,546 131,192 A\B3,646
201 Er=3H| 48,726 46,252 2,474
01 AtR2t2lHl 18,346 15,872 2,474
OFHAL RBHIAAH A=
242,000& 122 2,904
OFA AEAIE B 1,562,000 1,562
OXPHE &I otd2e| =
88,0002 12 1,056
O3J1838I| Sxz
48,0003 x30H* 122 1,728
O=8ol Sxt=(20H) 308,000&* 122 3,6%
OBAM U - AR F4 EY 7,400,000 7,400
02 35228l 30,380 30,380 0
OxtgsAb & 222 (30H)
13,000,000 13,000
OEAMEHZHI 4,000,000& 4,000
OFAt=AILI 11,000,000 11,000
O&FstE = 400,000 400
OsdI| 724 165,000&* 122 1,980
203 = 3,000 3,000
03 A=A 2= 3,000 3,000
O=8s SHYRAHFA
3,000,000 3,000
401 AlZHIXL S0 6,940 54,940 48,000
01 Al&ZHI 6,940 54,940 248,000
OFAF A28t 8 58S
3,470,000 22 6,940
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